


Gas Station

( Top)
Parts
Name and Number Part # $Price Per Unit
1.) Sign (CITGO) HH-520006§ 6.00
2.)  Bulb (12V)( grain of wheat ) [CG-000002 1.00

( extra long globe )

3.) Sign holder (ATLAS TIRES ) HH-5200069 *8.00

( white, orange & blue )

4.)  Screw ( M2.6X8.0mm ) A-0000272 0.15

( roundhead )( plastic cutting threads
5.) Building addition iH-520007 *15.00
( white, orange & gray )

6.) Door ( Men )( orange ) HH-5200071 3.00

7.) Door (Women )( orange ) HH-5200072 3.00

8.)  Window lens ( frosted ) 3.00

9.) Door ( w/ window )(orange) 3.00

10.) Window lens ( clear ) 0.50
( 18.0X32.0mm )( 0.2mm thick )

11.) Window display ( frosted ) HH-5200074 2.00

12.) Sticker ( CITGO motor oil ) HH-520007 1.00

13.) Sticker HH-520007§ 1.00
( CITGO, Drive Safely! )

14.) Window lens ( clear) 1.00

(52.0X65.0mm )( 0.3mm thick
15.) Roof overhang _H-520007 *15.00
( white, orange & gray )

16.) Roof overhang support 3.00
( white )

17.) Main building *30.00
( white, orange & gray )

18.) Skylight ( orange ) HH-5200080 *12.00

19.) Lens ( skylight )( clear ) FA-5200004 *12.00

20.) Speaker BF-000000 10.00
(SH, 8 ohms, 0.5 watts )

21.) Screw ( M2.6X8.0mm ) 0.15
( washer head )( plastic cutting threads )

22.) Garage bay *30.00
( white, orange & gray )

23.) Light holder ( white ) CH-000003 3.00

24.) Bulb (12V)( grain of wheat ) [CG-000001 1.00

25.) Window lens ( clear) FA-520000 0.50
( 15.0X25.0mm )( 0.2mm thick

26.) Window ( orange ) 3.00

*Requires Exchange



www.mthtrains.com/part/HH-5200068
www.mthtrains.com/part/CG-0000022
www.mthtrains.com/part/HH-5200069
www.mthtrains.com/part/IA-0000272
www.mthtrains.com/part/HH-5200070
www.mthtrains.com/part/HH-5200071
www.mthtrains.com/part/HH-5200072
www.mthtrains.com/part/FA-5200001
www.mthtrains.com/part/HH-5200073
www.mthtrains.com/part/FA-5200002
www.mthtrains.com/partHH-5200074
www.mthtrains.com/part/HH-5200075
www.mthtrains.com/part/HH-5200076
www.mthtrains.com/part/FA-5200003
www.mthtrains.com/part/HH-5200077
www.mthtrains.com/part/HH-5200078
www.mthtrains.com/part/HH-5200079
www.mthtrains.com/part/HH-5200080
www.mthtrains.com/part/FA-5200004
www.mthtrains.com/part/BF-0000006
www.mthtrains.com/part/IA-0000281
www.mthtrains.com/part/HH-5200081
www.mthtrains.com/part/CH-0000033
www.mthtrains.com/part/CG-0000017
www.mthtrains.com/part/FA-5200005
www.mthtrains.com/part/HH-5200082

Gas Station

( Top )




Gas Station

( Bottom )
Parts
Name and Number Part # $Price Per Unit
1.) Plate H-000013 3.00
2.) PCB board AG-000002 *50.00
3.) Screw ( M2.6X8.0mm ) A-000027 0.15
( roundhead )( plastic cutting threads
4.) Light socket H-0000028§ 3.00
( for bayonet base )
5.) Bulb [-0000015 1.00
( 18V )( large globe )( bayonet base )
6.) Motor ( w/ worm gear ) BE-0000051 12.00
7.) Gear box ( car) G-5200001 20.00

( complete w/ motor and gears )
8.) Gear box ( garage door ) G-5200002 20.00

( complete w/ motor and gears )
9.)  Motor ( w/ worm gear ) FE-OOOOOS 12.00
10.) Screw ( M2.6X8.0mm ) A-0000281 0.15
)

( washer head )( plastic cutting threads

=l

11.) Car ('57 Chevy )( red ) *8.00

12.) Car bracket 2.00

13.) Gas pump sign ( CITGO ) 3.00

14.) Gas pump ( orange ) 5.00

15.) Gas pump hose 2.00
( black and gray )

16.) Bulb (12V)( grain of wheat ) [CG-0000017 1.00

17.) Gas pump island ( white)  HH-520008 8.00

18.) Screw ( M2.6X12.0mm ) A-000029 0.15
( roundhead )( plastic cutting threads )

19.) Switch ( push button ) BB-000002 4.00

20.) Base ( gray) HH-520008 *30.00

21.) Garage door bracket HH-520008 3.00
( for micro switches )( white )

22.) Switch ( micro ) 5.00

23.) Screw ( M3X10.0mm ) 0.15
( roundhead )( plastic cutting threads )

24.) Gear ( garage door ) 3.00

25.) Garage door ( orange ) HH-5200090 8.00

26.) Garage door bracket (right) HH-5220006 1.00
(gray)

27.) Gear ( for car) 8.00

28.) Base cover ( gray) H-5200091 *15.00

*Requires Exchange



www.mthtrains.com/part/IH-0000132
www.mthtrains.com/part/AG-0000029
www.mthtrains.com/part/IA-0000272
www.mthtrains.com/part/CH-0000028
www.mthtrains.com/part/CI-0000015
www.mthtrains.com/part/BE-0000051
www.mthtrains.com/part/EG-5200001
www.mthtrains.com/part/EG-5200002
www.mthtrains.com/part/BE-0000051
www.mthtrains.com/part/IA-0000281
www.mthtrains.com/part/HG-0000023
www.mthtrains.com/part/HH-5200083
www.mthtrains.com/part/HH-5200084
www.mthtrains.com/part/HH-5200085
www.mthtrains.com/part/HH-5200086
www.mthtrains.com/part/HH-5200086
www.mthtrains.com/part/HH-5200087
www.mthtrains.com/part/IA-0000297
www.mthtrains.com/part/BB-0000022
www.mthtrains.com/part/HH-5200088
www.mthtrains.com/part/HH-5200089
www.mthtrains.com/part/BB-0000021
www.mthtrains.com/part/IA-0000203
www.mthtrains.com/part/EG-5200003
www.mthtrains.com/part/HH-5200090
www.mthtrains.com/part/HH-5220006
www.mthtrains.com/part/EG-5200004
www.mthtrains.com/part/HH-5200091

RAIL KING
T s

Q< °
Il Q <l -
(5) >
C <
= Bo ot Sog
N, o PR
™ <

Gas Statio
( Bottom )



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

